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CalcIH - 2.4 day 3 - Chain Rule with Trig

Find the derivative of each given function.

1) f(x)=tan(4x+3)~  Chpin Kule X3
§10y = sec? (h348Y - B ). 8
f00O= 40X (3 +aY S (4 43)°

2) g(x) =cos*(7x°) = @g(gi))i Chain Kule X3

9(&3: 1 (Cos(1y) e - Sin(1x) « 4

0 (x)= - 5bX Cos"(WISINCHD
J

3) y= (ﬁt('géx) CMlﬂ R(LLF

[j’: - (ot (Tx*-2x) ese (txt-ax) - (48x>-2)

- (agx>-a) Gok (1xt- 20 03 (x*-2%)

y =
J

4) y:secs(4x3) = (Sﬁ(‘}_x_a))i &ﬂiﬂ PL(,U. %3
tj’: 5 (s (Y. Sec wx®) ton (#7) - Jax*
U ‘= Lox* Sect (4x) - sie () bon (45>

U= Gox? Se Gx®y tan (+6°)
J
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5) y=sin(6x’+2)~  (hoin Kule ¥
lj': Cos ( o2+ (03 - 184

y oTax® (L3 ) 0os (((,x3+1)4

J

6) %[512(4323)] Chain Kule

= (0S (4¥43) - §X
—| §¥ Cos (X3

7) Usin(azesf]  Choin Rekex3
— Cos (343RY - 34X - 8K

= | Jux (3 Cos (hx43)°

3
8) %[sin3(4x2+3)] = _C%( (@(4_\(11'_53)— C}U”’) Puiz X3

= 3 (Sin(s3)) - Cos (4x33) - BX

= | Qux sin® (x40 (*+3)
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